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BCE/M-18 12256

BUSINESS ENVIRONMENT OF HARYANA
Paper : BC-206

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
All other questions carry equal marks.
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1. Write short notes on the following :
(a) Economic development.
(b) Density of population.
(¢) Small scale industries.
(d) NABARD.
(e) Government Budget. 20
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Distinguish between business and business environment.

Explain the relationship between business and environment.
15

‘e iR saafaE AR’ R # 2
3R IR § = gy € ?

What do you mean by SEZ ? Give arguments in favour of
and against special economic zones. 15

fasy il a5 ¥ omTEr w1 oy € 2 faviy anfuw
g3 # g 7 fouy # fEw <

What do you mean by agriculture ? Explain the importance
of agriculture in Haryana economy ? 15

wﬂmmaﬁm%?sﬁﬂmﬁmﬁw
# e = A W

Outline various sources of agriculture credit in Haryana. 15

sfer & T W@ # fafe S @ Ak

Discuss the provisions of rural indebtedness. What are the
causes and effects of rural indebtedness ? 15

orefoT SRR Y WEEN #OgUR | IEE el $R
qurE &1 U H

Write a note on banking development in Haryana. 19

o § 3fFT # A | T AR faan
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-8, What steps have been taken by the government for the
development of cottage and small scale industries ? 15

N AR oY SUM % w3 ferg TER EW I T
FEH FT AT H

9. What is Multinational Corporation ? Discuss the beneficial
and harmful effects of multinational corporation on
% Haryana economy ? 15

TEUEa AW § T sifuarg # 2 i w st w
i TEosa % s ok wifrere wwEl 3 fae
FIfaQ

¢
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Time : Three Hours]

BCE/M-18

BUSINESS MATHEMATICS-II
Paper : BC-205

Total Pages : 8

12255

[Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is

s compulsory.

AT ;. 7@ ulw T B IR AR W T T st

’ 2

1. Compulsory Question ( 3fard weT)

(a) If °P =2.°P_, find r.

(b) Find the rth term in the expansion of (

(c) Solve x + 4y > 8 graphically.

x+—

4

2r
1
).
X

4

(d) A man has 7 friends. In how many ways can he invite

12255/12,450/KD/1535/Trans.

one or more of them to a party. 4
¥ (e) Represent the following data by histogram. 4
Marks 0-10(10-20]20-30| 30-40]40-50| 50-60( 60-70
Number of
Students 10 | 20 25 10 8 5 2
(F) IR p =2.°P_,, T FSU
1 2r
’ (@)(x+—)a%ﬁwnﬁnhwﬁmﬁﬁml
X
[P.T.O.
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() TEES BT x + 4y > 8 F A HIC

(a)@mﬁ'zw%@ﬁﬁ@mm
o frad TR ¥ 9F ST oMW F wwd ¥

AF 0-10 | 10-20]20-30 |30-40 | 40-50 | 50-60|60-70
BE HI | ’
e 10 | 20 | 25 10 5 2

2. (a) How many three digit numbers can be formed by using

the digits
@ 1,3,6,8
Gi) 0,2,3,6,8

when the digits may be repeated any number of times ?

(7%2)

(b) If "C._, =36"C, =84 and "C,, =126, then find "Cy.

(7v2) ¢

(F) Pt o w1 STW F@ fRAN 3 ST wOAEA
¥ 1 wEA &
Q@ 1,368

G 0,2 3,68
maﬁf%fmﬁﬁ.m’r#mﬁmwmt

(@)af’ "C,_, =36"C,=84 ¥R "C, =126, ¥ C,
SIS
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3. (a) Find the value of a so that the term independent of x in

10
{JE + -fz-] is 405. (T%4)

(b) The co-efficients of 5th, 6th and 7th terms to the
expansion of (1 + x)" are in A.P. Find n.

10
(F)aF AF T@ Hifwg qMEH [Jﬁ%} " x F
X

@A V& 405 B
(@ AP. § (1+x" & fo=R ¥ 591, 61 3R 79 7=
w1 ONF ¥l n T FAY

4, (a) Find the solution set of the system of following linear
inequations graphically : x + y<6,x 21,y 2 1. 5

(b) Solve the following L.P.P. graphically using corner point
method :

Maximize Z=x + Y,
subject to the constraints
2-y+120,x+ys3,x<2,xy20. 10
(%) TiFFa &9 § fFrafefan Yaw wwen | yome
F THYR W T BT
x+y<s6,x21,y21L
(@) FHR e v w1 I w ieea 9 W
frafafea LP.P. & T FRC

AFTHZ=x+ Y,
Tvd f& Tug 2x—y+120,x+y53,xs2.
x,y20.

12255/12,450/KD/1535 3 [P.T.O.
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5. Old hens can be bought for € 2.00 each and young ones gt
? 5.00 each. The old hens lay 3 eggs per week and the

young ones 5 eggs per week, each egg being worth 30 paise,
A hen costs T 1,00 per week to feed. A man has only
? 80.00 to spend for hens, How many of each kind should
be buy to get a maximum profit per week, assuming that he
cannot house more than 20 hens. 15

T Wit € 200 W ow wht w owwR ¥ R 7w
T 5.00 YR® W Tt W o 4 gt g e wwm
3 AT o # ok g s o v wom R ¥, TEw R
w30 B ¥ ww g = oam W owd T 1.00 W
T ¥ TE TR ® v g @ Ry wd W@ @
o ®aw T 80 v womy #1 R wwmE sfirmem w@w
T FH P A 9 feedt ok wiedt =fen, 9w e
T & aw 20 ¥ Afuw gl & faq T T ww
?

6. Distinguish between primary and secondary data. Explain p
the various methods of collecting primary data. 15

wuft ok ffas wwel # dre omR #RN wufE
T F TG W B g A= wl # s R

7. (a) Construct a pie chart for the following data :

Subject | English Maths Physics ChemiStry Economics | Commerce

No. of
Students 45 60 20 30 | _ 10 15
7
12255/12,450/KD/1535 4 : :
£
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(b) Represent the following data by percentage sub-divided

bar diagram :
Subject No. of students | No. of students
(in '000) (in '000)
(2015-2016) (2016-2017)
Statistics 235 60
Political Science 40 84
“ Economics 35 56
TVa
(%) Frafafas 3o & fag o€ W° ®R T
v Fft | vt | i | WA | ol | wTE
fomm | fam
B A
& 45 60 20 30 10 15
(@) whrera Sefaafee aR om@ g7 = 2 &1 T
ELE| BE H TS | D ® A
? ('000 #) ('000 )
(2015-2016) (2016-2017)
wifeast 25 60
Tt e 40 84
YT 35 56

8. (a) Define Commulative frequency curve and explain its
types. |

12255/12,450/KD/1535
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(b) Draw a ‘less than ogive’ and ‘more, than ogive’ curve

on the basis of data given below : 10
Marks 0-5(5-10{10-15|15-20 |20-25(25-30{30-35|35-40
No. of
students | 3 10 | 20 30 20 9 5 3

(F) et gl % H1 gwfeg FC 79 T]WE THR

F A BT

“s

(E)ﬁmmémm‘MQm’ﬁr{’

‘e ® ofuw! IF W sifFd wifeg

A% 0-5|5-10/10-15| 15-20| 20-25|25-30(30-35(35-40
o
F]EE [ 3|10 20| 30| 20| 9 5 3
9. Study the following table and answer the questions given
below it.
Production of sugar by six major production units of Indiag 4
(in million tonnes) : T ¢
Production Units A
Month A B C D E F
April 310 | 180 169 137 140 120
May 318 | 179 177 162 140 122
June 320 | 160 | 188 | 173 | 135 | 130
July 326 | 167 | 187 | 180 | 146 | 130
August 327 | 150 185 178 145 128
12255/12,450/KD/1535 6
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(i) Which unit shows continuous increase in production
of sugar over the months ?

(ii) In the case of Unit E, in which pais of months the
production of sugar is equal ?

(i) In which month the production of sugar is maximum ?

(iv) In the month of June, which units have a share of more
than 25% of the total production of sugar ? 15

Prefefan afesT &1 snaga wE iR A Ry wa #;
Ja e

TRA W B: Y@ IARA TR BN HH H I
(erEl = H)

Production Units

A B c D E F
310 | 180 169 | 137 | 140 | 120
318 | 179 177 | 162 | 140 | 122
320 | 160 188 | 173 | 135 | 130
326 | 167 187 | 180 | 146 | 130
327 | 150 185 | 178 | 145 | 128

144434

¥
g &7

(WE = & THe § »A-9 2 weA ® o ow
IMEA U B B2
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BCE/M-18 12254

E-COMMERCE
Paper : BC-204

Time : Three Hours] - [Maximum Marks : 80

Note ;: Attempt five questions in all. Question No. 1 is
compulsory.

1. Compulsory Question

Answer all the following in short :
(a) Differentiate between Data and Information.
(b) Write four uses of Internet in Business.
(c) Write the full form of the following :
MIS, TPS, B2C, EDL
(d) Name two Internet Service Providers and rwo Browsers.

(¢) Name four E-Governance initiatives taken by

Government.
(4x5=20)

2. Define Internet and its application in E-Commerce. 15

3. Define Information and write the types of Information.

Discuss operations that can be performed on Information.
15

12254/13,450/KD/1042 [P.T.O.
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Define MIS, its principles, characteristics and design. 15

4.
§. Define Information Technology and its impact on Business.
13

6. What is EDI ? Write its benefits and implementation. 15
7. Explain E-Commerce models with their applications. 15
8. Why Security is so important in E-Transactions ? Explain

security concerns in E-Commerce Transactions. 15
9. Write notes on the following :

(a) M-Commerce.

(b) E-Governance. 15
12254/13,450/KD/1042 2
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BCE/M-18 12251
FINANCIAL ACCOUNTING-II
Paper : BC-201
Time : Three Hours] [Maximum Marks : 80

ol

“,

&1.

Note : Question No. 1 is compulsory. Attempt five questions in
all. Select four questions from remaining eight questions.

T : W WEw 1 StEd ¥ gw ote T ® Iw %) 9
| IS T W W TR fR wR oW w oI 2

Compulsory Question ( 3TFE™ WyT)

Explain the following :

(a)
(b)

(9

(d)

Imprest system of pétty cash,

Interest suspense account under instalment payment
system.

Provisions of Partnership Act in the absence of
partnership deed.

Expected net profits of Luxmi Sales Ltd is ¥ 1,50,000.
Average capital invested is ¥ 7,50,000 and expected
rate of return from capital of this type of business is
15%. Remuneration of partners is estimated ¥ 16000
for the year. Calculate goodwill on the basis of 4 years
purchase of super profits. }

(e) Distinguish between sacrificing rétib\gnd gaining ratio.
“ (5%4=20)
12251/13,700/KD/1221 | ' [P.T.O.
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frofafad ® ST W ¢

(%) T JwE w1 W e ‘-

(@) e Ym Wt % Rw | S|

(1) EEE SEE W SuRufy ¥ RN A T #
A

(%) Tt Yo fAfRes ® o wW T 1,50,000 STFEI
¥ =Eam = oiwa gt € 7,50,000 ¥ qer g W
FTIRE A W T 15% ¥ WEEE WA
T 16,000 YR srmf@ #1 gW @ ® AR 4
§ w olww fast & STYR W TR F MO R

(F) @R R a9 AN W | F w4 RR B2

What do you understand by Hire-purchase system ? Explain
the difference between

(i) Hire-purchase system and credit sales. 4

(i) Hire purchase system and instalment payment method. {
(15)

mﬂm@mwmﬁmﬂg

AR TR WG

(%) fFman wa T ¥ SuR Rl T
(@) fFmn #1919 R yEm i

A head office supplies goods to its Panchkula branch at cost

1 :
plus 33 -3—’%. Branch remit all cash daily and head office

-
pays all expenses of branch except petty expenses which

are paid by the branch itself. Branch adopts imprest system
of petty Cash,

12251/13,700/KD/1221 2 (
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Branch balances on 1st Jan., 2006 :

L4

Petty cash 2,000
Stock at invoice price 36,000
Debtors 18,000
Prepaid insurance 960
Outstanding salaries 3,000
Transactions for the year :
Goods supplied to branch 2,20,000
Cash sales 1,50,000
Cash sent to head office 3,15,000
Credit sales 1,70,000
Bad debts 2,000
Goods returned by branch 8,000
Transfer of goods from Panipat

branch to Panchkula branch 12,000
Petty expenses paid by branch 1,680
Insurance premium paid by

head office from 1.4.2006 to

31.3.2007 4,800
Salaries paid by head office 20,000
Stock at cost on 31.3.2006 26,400

Prepare Panchkula branch account for the year ending 31st
December, 2006 from above particulars. (15)

TF WH FEEd A9 TEHe VR H A ' o
335% Srewe do $) @ S TEE T i
= S ¥ IR @9 H TEE §ft @ wvMA
FEeE ® g0 frr TR ¥ 3 IR ®E W@ B ZW
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SEERL 2,000
Ao eI W A 36,000
BTN 18,000
TEEq | 960
ITT T 3,000
31 fE=R, 2006 F TH@ T T T P AT 3 :
T H WA WS 2,20,000
T Ewa 1,50,000
YUN FEEE B VHS Wl 3,15,000
SuR famt 1,70,000
C 1o 1 Ml | 2,000
& | e e R ' - 8,000
HiTe W@ § YEeen w6
g e T 12,000
a3 Hee =g @ R 1,620
JyH ®EEE 3 1.4.2006 ¥ 31.3.2007

TF o, W w1 g e 4,800
TE FEEd 7 aaw 20,000

@ R W (31.12.2006) 26,400

ST faacr @ 31 REER, 2006 F GHE ¥R A 9
% foq Yeugen v F WA TR F

12251/13,700/KD/1221 4
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Why Revaluation Account and Memorandum Revaluation
Account are prepared, explain with example. Also state the
difference between Revaluation and Memorandum

Revaluation Account. (15)
TR W ae TR AediET @
T ¥ qTeE @ A oRond EediEd @ A

T R ¥ TR0 WG Fad|

Prepare Profit and Loss Appropriation Account and partner's
current account from the following particulars :

X o Z

Capital (on 1.1.2000) 75,000 40,000 30,000
Current accounts (1.1.2000) 10,000 5,000 5,000(Dr.)
Drawings 15,000 10,000 10,000
Interest on Drawings 500 190 350

Profit sharing ratio X, Y and Z in the partnershipis 2 : 1: 1
and interest on capital is allowed 5% p.a. as per partnership

agreement.

No Interest is charged/allowed on current accounts. Interest

of 4% p.a. on drawings is chargeable. The accounts of the

firm showed a net prifit of ¥ 80,000 before taking into

account the interest on capital and drawings and subject to

the following rectifications :

1. Life insurance premium of X amounting to ¥ 750 paid
by firm on 31.12.2000, has been charged to
miscellaneous expenditure A/c.

2. Repair of machinery amounting to T 10,000 debited to
t and depreciation charged there on @ 20%.

[P.T.O.
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3. Travelling expenses of ¥ 3,000 of Y for a pleasure trip
to UK. paid by firm on 30th June, 2000 has beg,,

debited to travelling expenses account, (15)
frafafan guell ® MR W AE-FI TR @y
I TEER B IR W AR W
TR X, Y, Z T9-¥ H 2:1:1 % A ¥ 7z
#1 gt W =W 5% Wy wf R W ¥ ok W wm
W FE WS F WEYE T § STEO W 4% W oA @
= 1 WEYH € Yo, e SR W] @ # faEm
fr=r & :

X Y Z

4 oz z ?

gsit (on 1.1.2000) 75,000 40,000 30,000
W @M (1120000 10,000 5,000 5000(Dr.
e ot 15,000 10,000 10,000
SE W SEE 500 190 350

Yot 7 T W W ¥ W wH B [ @ T 80,000

¥ = agfeal =1 o qur fe W #

L X # W fim ofewt w T 750 7 wifEw
31.122000 ® I fFm wn AR @S § W
o i

2. wRR W R4 € 10,000 AR wiz § PR
fen mn ok W W 20% ww T T

3. Y® UK Trip ® 3000 ® @wd = w 30 T
2000 #t fFY Y, TN = N wEn T

12251/13,700/KD/1221 6
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6. P, Q and R are partners in a firm sharing profits and losser

in the ratio of 3:2:1. The Balance-sheet of the firm as on
31st December 2007 is as under :

Liabilities Amount | Assets Amount
Bills payable 22,000 | Cash at Bank 3,56,000
S. Creditors 38,000 | Debtors 50,000
Less : Provision 3,000| 47,000
Bank loan 2,00,000 | BR 37,000
Reserve fund 36,000 | Stock 60,000
Capital Accounts Investment 50,000
P 2,95,000 Computer 20,000
Q 222,000 Motor van 1,00,000
R 1.37.000 6,54,000 | Plant and
Machinery 80,000
Land and
Building 2,00,000
9,50,000 9,50,000

P retired on 29th February, 2008 and Q and R continued the
partnership sharing profits and losses in the ratio of 3:2. The
terms of retirement are as under :

1. Provision for doubtful debts to be increased upto

< 5,000.

2. Stock to be appreciated by 10% and Land and building
by 7.5%. _

3. Motor van to be depreciated by 5% and computer by
15%.

4. A provision of ¥ 2,400 to be made for outstanding
repairs.

12251/13,700/KD/1221 7 - [P.T.O.
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and R.

Goodwill of the firm to be valued at ¥ 48,000 and P's
share of goodwill to be adjusted into the accounts of Q

6. Profits upto the retirement was estimated < 54,000.
7 P takes over the investment at ¥ 45,000 and balance

amount due to P was paid in cash.

8. The capital of new firm will be readjusted by bringing
in or paying out cash so that the capitals of Q and R

are in new profit sharing ratio.

Prepare Revaluation account, Capital accounts and
Balance sheet of new firm on 29 th February, 2008.

pQar R i & weer ¥ & @m ®fF 32:1 ®
s ® wied ¥ 31 fwEw, 2007 W OFH F A

(15) al

frer %
e T [ =t T
7 faa 22,000 | 4% TJFE 3,56,000
SRR 38,000 IR 50,000
¥ WO 2,00,000 | —WEY¥®  _3.000| 47,000 ¥
g FY 36,000 (W= o 37,000
Tt @ T 60,000
P 2,95,000 e 50,000
Q 2,22,000 FEX 20,000
R 1.37.000 6,54,000 | AIeX 1,00,000
R & 80,000
e gff
q e 2,00,000
| 9,50,000 9,50,000 *
12251/13,700/KD/1221 8
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P 7 29 T, 2008 H FFHTY UEU fFA a4 Q I R
s & e H 32 F g O TR TEO H
7 = #

1. Wy w ® wEvm ) wgER 25,000 A R
2. WF H 10% IA G ST F 7.5% TG 2
3. AR W 5% TN TR W 15% FE O 2

4 T AR faot ® fAuw 2,400 ¥ WEY™E HEAT
2

5. TH F TNy w1 gedEA T48,000 ¥ SR P F
i F = Q IR ¥ TW ¥ TR w2

6. STSF TEW TF ST @ T 54,000 @

7 L fafrEm @ 245,000 ¥ fE R W 9w Tf@
1 g TH] fEa T

s. 7w A P A T A A W g T
: g R W A Q ¥ R F Y T
sIE ¥ § W |
Wm,qyﬁ@ﬁmmwﬂmsﬁ
7w & faer TRl

T.O.
12251/13,700/KD/1221 9 (P.T
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7.  Amit. Sumit and Lavanya are partners in a firm sharing profits
and losses in the ratio 2:2:1. On 31.12.2015, they agreed to

dissolve the partnership. On this date, their Balance Sheet

was as follows :

Liabilities Amount Assets Amount
Creditors 35,000 Cash in hand 24,000
10% Bank loan 50,000 Bills receivable 25,000
Amit's wife loan 20,000 Debtors 46,000
Reserve fund 48,000 Stock 80,000
Patents 10,000
Profit and Loss A/c 15,000 Investments 60,000
Capital A/cs Machinery 1,20,000
Amit 2,00,000 Building 1,20,000
Sumit 1,76,00 Current Account :
Lavanya 1,00000 4,76,000 Amit 5,000
Current A/cs
Sumt 10,000
Lavanya  16.000 26,000 s
6,70,000 6,70,000

1. Sumit agreed to take over the business (except cash) at
the following valuations : B/R 23,000, Debtors 41,500,

Stock 85,000, Patients 3,500, Machinery 1,35,000 and
building ¥ 3,25,000.
2. Amit agreed to take investments of face value ¥ 35,000
in full settlement of his wife's loan and remaining
investmnts sold @20% discount.

3. Bank loan was repaid alongwith interest of one year.

12251/13,700/KD/1221
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4. Creditors of firm agreed accept 10% less.
5. Realisation expenses amount to Z 1.800 met by Sumit,
Prepare necessary accounts to close the books of the

firm.

(15)

afe, G R FEv R ¥ @ @w wE ot
22:1 F I ¥ wed ¥ 31 Romm 2015 F IR
TR T W FR w1 Poig form T R # S

ﬁl?l f= o
Liabilities Amount | Assets Amount
" Creditors 35,000 | Cash in hand 24,000
10% Bank loan 50,000 | Bills receivable 25,000
Amit's wife loan 20,000 | Debtors 46,000
Reserve fund 48,000 | Stock 80,000
Profit and Y2 loss A/c | 15,000 | Patents 10,000
Capital A/cs Investments 60,000
Amit 2,00,000 Machinery 1,20,000
Sumit 1,76,00 Building 1,20,000
Lavanya 1.00.000 4,76,000 | Current Account
Current A/cs Amit 5,000
Sumt 10,000
Lavanya  16.000 26,000
6,70,000 6,70,000

1. g feafared T W EEEE W oW w
4w mm: W P ¥ 23,000, IR T 41,500,

12251/13,700/KD/1221
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<t 7 85,000, %= ¥ 3,500, Tyl T 1,05,000 Ter

w57 2 3,25,000!
s 735,000 3ifFa Hea @ PafrEm st et #

A0 @ T PR ® w9 H o W TR LM o
Yy ffEE ® 20% wEd R 99 R T

3. &% WO H TRR TH 9 B qro 9w fREr T
4, TH B ATER 10% FH W R FEE E
5. T1,800% Tt =@ ghm 4 gwH R
v # wE B IR TR P Ay ovEE @
Eiy
8. Explain the methods of charging interest on drawings.

T R =N F At BfiEl w1 faaR @ e #l

9. Write notes on the following :
(a) Adjustment of undistributed profits or losses and

reserves.
(b) What do you understand by out going of a partner from |
the firm ? How his share is determined ? (8+7)

frefafas ® T fE:
(%) sfgafom arsi/efal & S92 ®1 SuEsEl

(W) FH ¥ TF UERR 6 TR M Y A9 w1 g
¥ Su@ = frakor ] frm W 20

!

12251/13,700/KD/1221 12
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BCE/M-18 12253

FUNDAMENTALS OF MARKETING
Paper-BC-203

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions. Question No. 1 is compulsory.

Az W Ul W w OWR w1 At B

Compulsory Question ( afEr we)

1. Answer in brief :

(a) Differentiate between consumer and Industrial Products.
' 4
(b) Write a short note on Global Marketing. 4
(c) Difference between Traditional and Modern concepts
of Marketing. 4
(d) Discuss the methods of Promotion. 4

(e) Differentiate between Sales Mgt. and Marketing Mgt.
4

weg ¥ IW A :

(%) s Il R SieifE saR ® R wif
(@) dfas faom W i TR fafew
(1) T TE S e R ® SRR W

Firora|

(w) dag W fafv= fafual # s s
(%) fra VAN T PO yEY SRR Fied

12253/13,500/KD/1257
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Define Marketing. What are its objectives ? Explain its
importance in modern business world. (3+6+6)

ﬁwﬁvﬂwﬁmlmﬁwmﬂ?wﬂm
Wwﬂmﬂémaﬁmml

What do you mean by marketing Environment ? Describe
its various components. (3+12)

Define the marketing Management. Explain objectives and
various functions of Marketing Mgt. (3+4+8)

mmﬁvﬂmmummﬁm
=Y ¥ T N AR F

What do you mean by Product life cycle ? Explain its various

stages. Is there any utility of it to marketing manager ?
(3+8+4)

T hET TF @ o F wEee ¥ e s =
# =rEn T J R R yEmE % fa s

Iqafn #?
What is consumer behaviour ? Discuss the importance and
difficulties in understanding buyer behaviour. (3+6+6)

oSN EER 1 87 IO STEER B WEen adl
W g ® s w1 fadem i

12253/13,500/KD/1257 2
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7. What are the objectives of market segmentation ? What criteria
are used for Segmenting Consumer market ? (649)

TR AviRE % Ryg Fm ¥ SUNET SRR F
R F@ % o fF e w1 yam fEm W
T 2 Famu

48, What do you mean by Promotion Mix ? Explain the main
components of Promotion mix. (3+12)

o  gaga foam ¥ o Fm wwmd §2 wWagA fasm @
= s ®1 e Feg

9. Define Distribution channel. Explain its various typez;é "
+

Wwaﬁqﬁmﬁiﬂaﬂmemm%ﬁﬁﬁ
v F S R

A

12253/13,500/KD/1257 3
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Roll No. oo Total Pages : 3

BCE/M-18 12252

MACRO ECONOMICS
Paper : BC-202

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question Number | 1s
compulsory, each part carrying 4 marks. Attempt four
questions from the remaining 8 questions carrying 13

marks each,

AT ;. FA AT WA F OIW I WA FEA | afEd 2.
TR 9T 4 3% F E| YO 3@ WA A § R A
=, TEF WA 15 IF F

1. Answer of each of the following short type questions should

not exceed one page .
(a) Discuss the concepts of macro economics.

(b) Define briefly the concept of national income.

(c) What is autonomous investment?

(d) ‘Discuss the principle of acceleration.

(e) Explain four main causes of inflation.
ﬁmﬁiﬁﬁmmﬁﬁwmmwﬁa@mm
& g wfe -

(%) TEfEe ST FH YR FT AUA FL
(@)n@mmﬁmmﬁwaﬁ?aﬁt

(1) Tt fEw @ S 2?

12252/13.500/KD/1235 (P.T.0.

Am’
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() e fagia & T F .
(%) TR B R gEI HRO w0 F

2.  What do you mean by circular flow of income ? Explain
with the help of a four sector model.

TR TEE YaE § A F 9EEe €7 TH 9K &
Aied & WeEH § gEERq ’

3. Explain psychological law of consumption and give its
importance.

IO F TR fEE qen TEw & auH R

4. What is multiplier? Explain its forward and backward
working. .
T 9w oAty 22 THE oW qen Wi # FE
YOl T U

S. Discuss the Keynesian theory of income, output and ;
employment.

FN H AW, IER AW TR fazim w guR X &

6. How equilibirium GDP is determined in a closed economy.
Explain.

TF 9% qdemaeen ¥ wgfem MAd w1 fukor #9 o
T Tl w

7. Explain the causes and remedies of ‘inflation,

TERFENT & FROT qoN IHR [ FA H IGEA B I
F

12252/13,500/KD/1235 2 4
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8. Explain Hicks theory of Business Cycle.
femm & =R 9% fag@ &1 TR F

9. What is investment? Explain the methods of stimulating
private investment in an economy.

faw ¥ T o 87 T oidemaenn ¥ et faw @@
TreaifEd @ A TR FT IR FIfT

12252/13,500/KD/1235 3
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Roll No. cnvininininiicncnnne- Total Pages : (2

BCE/D-18 12506
BUSINESS COMMUNICATION |
BC-106
Time : Three Hours] [Maxiraum Marks : 80

Note : Q. No. 1 is compulsory. Attempt any four questions

from the remaining eight questions.
7T T 1 AHart ¥ ) S A8 YR ¥ 9 w1 9w

Y9 RIS |
Compulsory Question ( 31+ wgT)

1. Write short notes on the following :

(a) Grapevine (b) Positive attitude

(¢) Proxemics (d) Para language

(e) Video Conferencing. 4x5=20
frfafes « diya femfar fafex -

(31) YL THER (4) TFNHS giesmi

(@) T o (3) qwd W

(3) difedt wFRfET |

Unit I (3&18 1)

7. What is meant by Business Communication ? Discuss
any best theory of Communication. 15

SaEafTE 9RO ¢ 7 §9r & fed e oo faga @@
U HifST |

(2-46/5) L-12506 P.T.O.
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What are the advantages. and disadvantages of Visual
aids ? | 15
Ifte we@® a5 & o0 SR e a w2

“Your vorce is trade mark.” Comment. 15

ATH SIS SATE TAF ¢ 1" AR FIAC |

Write a detailed note on various modern forms of

Communication. 15

TR & faf= smyfe w9 W & foqa feool fafe |

What arz the factors which will determine effective oral

listening and written listening ? 15
I 7 ® IR H waed S yuEql Hfes Hev e
fafed s+ feifa &9 § 2

What is Memorandum ? Discuss various types of

memorandum with the help of examples. 15

ﬁnﬁmw%?wm"ﬁm@ﬁm@:ma%ﬁm
qFr H AR BT |

Discuss the process of appearing for an interview. 15

@@Waﬁﬁﬁmmﬁl

Discuss the guidelines for the working of g-Majl and e-

M.l etiquette. . 15
é-ﬁa'ﬁné—ﬁamema}ﬁﬁﬁaﬁm

HIST |

11,00¢

Scanned by CamScanner



ROIINO. evvereeeerereivieeeenens Total Pages : 03

BCE/D-18 12503

PRINCIPLES OF BUSINESS MANAGEMENT
BC-103

Time : Three Hours] Maximum Marks : 80

Note : Allempt Five questions in all. Q. Nu. 11s conpuisory.
Attempt any four questions more from the reimnaining
eight questions carrying 15 marks each.

o ute ¥ 9w AR | S dem 1 s
5| vg o vl § ¥ FE R WA HIWC, TE

q9q 15 FFH H T |
Compulscry Question(aiﬁ'q"!ﬁ uyq)

1. Answer all the tollowing in brief : Sx4=20
(a) What are the components of commerce ?
(b) What is Skill Inventories ?
(c) Write any four principles of planning.
(d) Explain virtual organisation.
(¢) Discuss the importance of delegation of Authority.
Efaf T F AT H T ALl
() afora # TEE FW T 7

(2-46/3) L-12503 P.T.0.
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2. Explain the contribution of Henry Fayol in the field of
Management. 15
w—araian“av.m?mmml

3. What is mcant by Centralisation ? How does it differ
from Decentralisation ? 15
HEITHT T T A T 2 TF R § fhe YR
fam 2 2 |

4. Explain the main theories of Leadership ? Examine them
critically. 15
g B T foaREmet # Sl geaied it |

S. Discuss various conventional techniques of managerial
control. | 15
yauehig = w fafis W aedie 3 ==

HIfTT | |

6. Explain Ouchi's Z theory of motivation. 15
AITN F A e faERER # 9l #ifT |

L-12503 2

(F) FIA FH FME 7
(H)ﬁmﬁ??mwmfﬁﬁ?ﬂl
(X) 5@ T #1 qui Fifaw |
(2) WM & mew %1 w=t #ifew |
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7. “Planning is fundamentally choosing, and a planning
problem ariscs when an alternative course of action is
discovered.” Explain this statement. 15
SHER B 1" T wUE # SR #Aw

8. Define Organising. Discuss varjous principles of
organisation. 15
e & IR A | e @ fafe fage # A
H fafeq | |

9. “Anything minus management is nothing.” Explain this

statement. 15
“afz fpet R § § W & W fam W0o@ v 1B
2 a=dr 1" 39 HYA B W FHfSU |

(2-46/4) 1.-12503 3 11,800
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BCE/D-18 12505
BUSINESS MATHEMATICS-I
BC-105
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
A Ui W IR A | 9w "eem 1 wfeEd §

1. (a) The sum of three numbers in A.P. is 9 and the sum
of their squares is 35. Find the numbers. 4

AP ® o dome & AT 9 ® 9o SEE I H
4 35 R | 9Ny §id SIS |

(b) Differentiate (x)'°8% with respect to x. 4
x & GNY ()lgr H R HIET |
(c) Solve for x : . 4

log(4x —3) =log(x+1)+logs
x & fau 3@ SIET :
log(4x —3) =log(x +1)+log 3
(d) Find the value of x, y, 2, if : 4

2x+y x-y ) _(10 -1
X—2z X+y+z 2 8
x,y,z @ WA FA- HEC AR

2x+y x-y ) {10 —'1}
x-7z x+y+z 2 8

¥
-

(3-46/8) L-12505(TR) P.T.0.
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(€)  Rekha bought a refrigerator for ¥ 9,200 on credit.
The rate of in_te'rest for the first year is 5% and for
the second year is 15%. How 'much will it cost her

if’ she pays the amount after. two years ? 4

W URg W 29200 ¥ TH LR @l | wuE
¥ & U = s 5% gur g o @ feg e
W 15% B | 9% 98 @ af @g 40y 2w
B, @ I frat wE em 2

2. (@) If g*=pY o7 g, show that : 7%
loga(bcd)=x(l+l+l)
Yy z w

A oy = F =g, T W F

log,,(bed) = x(-l-+l+lj |

y z w
(b) Evaluate the following using log tables : 7%
(3.142)° (0.078)""
(0.005)"
frafafeq &1 geaiwd @M WA ® WA EN
IS L4E |
' 3 1/3
(3.142)” (0.078)
(0.005)""*
L-12505(TR) 2
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3. (a) If the 12th term of an A.P. is =13 and the sum of
the first four terms is 24, what is the sum of the
first 10 terms ? 7%
R AP #1291 T 13 T T YoH WX TR H
A 24 R, @ owem 10 W& H AT F¥W L 2

(b) Sum the following series to n terms : v
4 + 44 + 444 + ...
ﬁm%ﬁm;zﬁﬁlﬁﬂaﬁm
4 + 44 + 444 + ...
4. (@) If y=(x?+1)>v2x-5; find Z_y 7%
X :

. ay ‘
A y=(x2+)*V2x-5 B, W —— TW R |

2
X
(b) Differentiate 2 W.Lr.t. x2, | A
x
.
x2 & 9Ny . FT FFHEH HIWT |
x .

5. (a) Determine the local maximum and local minimum

values for the function -3 _3x% _9x—7. 7,
T 3 _3x2_9y—7 B (A€ W SHfewas e

| PT.O. .
(3-46/9) L-12505(TR) 3
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(b) Given the demand function of a product

36
]):—*—3€+12, where p is the price and x is the

x—
quantity. Find the maximum revenue. 7%
_ : 36
& IAE K H Foad p= 36+12 fea T
. ,
?, el p HIUa © q x W T | fuFHaH W
d FISC |
6. (a) Prove that : 7% .
la+x y z
x a+y z =a2(a+x+y+z)
x y a+z
fag ﬁﬁf‘l f&
ja+x y z

x a+y z =a2(a+x+y+z)

X y a+z

(b) Express the following matrix as sum of a symmetric

and skew-symmetric matrix : 7%
(4 2 -1
3 5 7
1 -2 1
L-12505(TR) 4 )
M
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7. (a) Solve the following system of equations by matrix

method : 7Y,
x—-y-z=1
2x +y+z=2
x—2y.+z=4
e fafy gu frefafen vl @ fem &
i
x—y—é=1
2x +y+z=2
x-2y+z=4

-8 5
(b) Show that A=( 5 4J satisfy the equations

x2 +4x—42 =0 and hence find A1, T%

-8 5
zwige f A=(2 4) THIET 2 L 45 —42=0

F Hge w@ & W Al @ Wi |

(3-46/10 ~-12505(TR) 5 P.T.O.
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8. (a) A sum of money invested at compound interest
amounts to ¥ 2,200 in one year and to ¥ 2,662
in three years. Find the principal and the rate

per cent. . T
FE o7 TH 99 ® faw T 2,200 q1 A T

fou 2,662 & =warg == W faAfm fea @
qavd qel gfged X 9@ i |

~(b) A machine depreciates at the rate of 10% of its
value at the beginning of an year. The machine was
purchased for ¥ 10,000 and the scrap value realized
when sold was ¥ 3,855. Find, how many years the
machine was used for 2 7%
Tw WY oY @ U H o g &% 10% i
| Y U= I T | AR W T 10,000 H S T
qor o9 o= T a9 ot g ¥ 3,855 R
T T Hie fF WA w yEm e o fE

RICZ| B

9. (a) Find the amount of an ordinary annuity of ¥ 500
payable at the end of each year for 7 years at 7%

per year compounded annually. - TA

7aﬁ¢mwﬁraﬁ%mﬁmuﬁaﬁ'ﬂﬂﬁi
aﬁmaﬁﬂmzsooaﬂwmﬁﬁﬁuﬁt

A Hifed |

L-12505(TR) 6
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(b)) What 1s the present value at 6% per annum
compounded semi-annually, of an annuity due of
% 1,400 payable semi-annually for 12 years ? 7%
12 9 & & X 1,400 33 & " it w
6% 9t o F T Y farfiE wwfs wW d A
SN Gt R # adHE el N § 2

13,300
(346/11)L-12505(TR)
Scanned by CamScanner
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BCE/D-18 12504
COMPUTER APPLICATIONS IN BUSINESS
BC-104
Time : Three Hours] [Maxi'nmm. Marks : 80

Note : Attempt Five questions in all. Q. No. 1is compulsory.
FA U T B S AT | g gem 1t
CE | '
1. Answer the following questions . in brief : - 5%4=20
(a)  What is Computer ? Gi{’e conﬁ/guration of a desktop
cdmputer. : o
(b) - What is software ? Distinguish between application
software and utility software. |
(c) Compare. star, mesh and tree topologies used in .
computer networks. - | |
. o(d) What are characteristics of rea].time applications.
(e) ~What is open source software ? How 1S it diffg:rent
from propri'etary software ? * |
frafafeg & 39 9&9 § ST . » |
(3;) FE F € 7 SEhAU HEIR K FIEEM
df 1
P.T.O.

2:78/1) L-12504(TR)
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() TRIR F0 & ? WerhyH Gas 3 I
HRaR & g W wifey |
(§) X 9% | Yo ©R, 9V 3R & st &t
qo wifeg 1
(X) ar<dfas v oryart & favmad #0182
(3) 3 9 gived® &1 & ? 9Eed afeaR 9 o7
. ®HY I § ?

2. What are Input devices ? Explain the working of mouse,
keyboard and touch pad. 15
H ATET BT |

3. What is Hard Disk ? How information is organized on

hard disk ? Explain in detail. 15
e foor 71 & ? B foh W IFaN &9 =afted &

St & ? fowR ¥ 99y |

4. What is Operating System ? Compare the characteristics
of android and iOS used in mobile phones. 15
e fowen @ § 2 HEEA WA § TR 3RS AN
AT, O # Qe HI |

5. Explain the evolution of programming languages through
various generations. 15
ﬁfﬂwmﬁmm@mwﬁﬁﬁmaﬁ

L-12504(TR) 2
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6. E.‘( la' > : \
plain the following features nf word processors :

word ¢ i
count, tootnote, mail merge, table of content, wrap
text.
15

agg'ﬁ@Iﬁﬁwf%’!f@afas‘lﬂmaﬁﬁmﬁq:
TR A, PR, TA e, S S A, o odwe |

7. Explain the following features of Excel :

Pivot Table, Auto Filter, Repeat Headings on each page.
Formula and Macro. 15
TS @ A= fovmaen =t HHARY :

fige 9ad, ofd frex, ToF g8 W fdfie 2w, wigen
3R TPl | | -

8. What is Computer Network 7 Explain LAN, MAN, PAN

and WAN in detail. 15
Wﬁaﬁw%?éa,ﬁq,ﬁﬂﬁﬁéﬁﬁﬁw@

sy |

9. What is DBMS ? How can you create t
DBMS you know ?

Explain with examples. 15
& 1. TH.TE. m%?mmﬁwmi,m
ﬁ%ﬁm%ﬁﬁmaﬁﬁiw@wﬁ%mww@l

able, update table.

generate qucry, delete tuple In any

(2-78/2) L-12504(TR) 3 11,600
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Roll No. .ccveeeeveeiiirernannnnne. Total Pages : 03
BCE/D-18 12502
MICRO-ECONOMICS
BC-102
Time : Three Hours} ' [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory
which coinprises of five short-answered questions of 4
marks each. Attempt four questions from the remaining
eight questions carrying 15 marks cach. |
e ufe A @ SW e | W Fen 1 e
3 fogd uig oy S909 W ¥, V@ WY 4 AF H
39w ¥ § R v Fien, O TEE W 1S

A

3k H T !

1. Compulsory Question :
(a) Difference between Micro and Macro Economics.

(b) Difference between Contraction of Demand and
Decrease in Demand.

(c) Significance of the difference between Total Utility
and Marginal Utility.

(d) Internal and External Diseconomies of Scale.

' (¢) Features of Monopoly. 5%4=20

(2-14/13) L-12502(TR) P.T.O.
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(H) geH- qen - s 0o ARy |

(9) | GHET a9 "0 gfg ° AT GdiEy |

() = ITATTE qw HiEe SwAfa | S w1 A
() TR 7 e qen e sifgdeafaan

(%) erw 1 f:é]'Q:I'EI’HTQ' |

2. Explain whether Economics is a science or an art or both.

THSAET 5 1 1T U faEE © Al hell Aual I 2

3. Explain the Law of Diminishing Marginal Utility. Discuss
the importance and limitations of this Law.

T St g | 1 wuiT wifae | 39 fTEE &
e qU HHe w1 quit Hif |

4. Explain the Consumer's Equilibrium with the help of

Indifference Curve Analysis.

F1 g0 HiT |

5. Explain the Law of Variable Proportions. What are the

causes of application of this Law ?

R A F fEm B gEERY | 3w W & ogwm @
Fa HRO E 7

6. Distinguish between Fixed Cost and Variable Cost. What
is the significance of this distinction ?

feer @d qe UREdAYe oe § TR Say | 39 3K
F N HET § 7

L-12502(TR) 5
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7. Discuss the main features of Monopolistic Competition.

How are the Price and Output determined under it ?
THIHshIir  sfoafiar #1 qer faviwad waee | zEs
ST R qe SR w9 fuif@ g € 2

8. Under Perfect Competition a Firm can make normal profits
in the long run while in the short run, it may not be the

case. Explain.

ol gfadifer & oradd U wH e H O W @M
FU GFal T Fabh oeuR ¥ qe WWa € ¢ ? 9

HifeT |

9. What is Elasticity of Demand ? Discuss its importance.
Him w " R ? TH Hew™ waisy |

13,300
(2-14/14) L-12502(TR)
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OBCE/D-18 12528
PRINCIPLES OF MANAGEMENT
BC-104
Time : Three_ Hours] ~ [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

Answer to each sub-question of Question No. 1 should
be more than one page.

Fo M WA B IW AT | YA Gew 1 e
B UH wHE 1 B YE 39T H T T TS
T difgg dew |

1. Explain the following in brief : 4+4+4+4+4
(i) Policy (i) Forecasting
(iii) Virtual Organization
(iv) The North America Free Trade Agreement
(v) Utility of Standards as tools of Planning and Control.
frafafes # @89 o T9ERy -
@ A (if) T
(i) ST A
(v) I RS &1 THE AT THA
) Friee qen Frdsm § WA (Y)W SR
(2-56/3) 1.-12528 ' P.T.O.
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2. “Management is the driving force that inspires an
undertaking, knit§ it into an entity and creates the
conditions and relationship which bring about a full use
of its powers and resources.” Discuss this statement in
light of modern concept of management. ' 15
"W TF W uf ? SifE u sumn @ wE # fer
URa w2, SW U TR @ wv § uRtE e € ek
THt Tenetf o Gl w1 ger s ¥ W Sus wew e
9 WfRrEl 1 g 3w gy aEe 1" Y @ ey
YR & |IH W I o 1 faged Hifew |

3. What do you understand by staffing of managerial
personnel ? Who should bear responsibility of staffing in
an organization ? Discuss importance of staffing in-a big
business concern. 4',3,7%
ey RIERal %1 Fgfed 9 emumt s efiymg & )
freht e § v vl %) frafi s e
fFd 97 T =M ? T Fes A= T8 F fregfre
% "l # faaaq Hifg |

4. What do you understand by functional centralization of
an organization ? Explain need and significance of

functional centralization. 6,9

e % R dEEET ¥ oY F s § 2
fparcHe HATHU Hi STAIRA AT W™ THHRY |

L-12528 2 :
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5. Explain principles of personnel motivation and describe
the motivational procedure required for a concern. 7.5,7.5

Rl SR % e fagi ey qar et v 3
A ggfa 1 Fui s |

6. Point out a few symptoms that would indicate a faulty
control system. What factors should be kept' in mind in
appraisal of control structure of an organization ? 7.5,7.5
TH U T vl # veE e0 9 dew 4 e
g ? Tt de #) frae WET @ e ¥ em S
I HHY WTH T § 2

7. What do you mean by leadership ? Describe some
common failings to be avoided if one is to be an effective
leader. 7.5,7.5 |
I q E F AR § 2 ST qEemeh F oA
Ffr, AR TF FUEER T@ S % T [T

=1fey ?

8. “Decision making is primary task of manager.” Discuss
and explain the process of scientific decision making. 6,9
“ﬁqu?ua‘%mmmamﬁ% " TG HUA F G
FAfse qon S fofed wfwa FReE | |

9. What do you understand by Globalization ? Explain impact
of globalization on Attitude of managers in India. 7.5,7.5

W@mwﬁm%?a@aﬁwmmﬁ'
wevEl # afwgfa W I T v )
(2-56/4) 1.-12528 3 1,550
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